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A
Complete each proof.
1. Given: AB = AD
AC bisects ZBAD
Prove: AABC = AADC
B C D
STATEMENTS REASONS
1. AB=AD 1.
2. AC bisects ZBAD 2.
3. 3. Definition of a bisector
4. AC=AC 4.
5. AABC = AADC 5.
2. Given: AABC = AXYZ C 7
Prove: As many different statements A A
as you can A B X Y
STATEMENTS REASONS
1. 1.
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3. Given: BE bisects AD o B
C is midpoint of BE .
Prove: AABC = ADEC
A
STATEMENTS REASONS
1. BE bisects AD 1.
2. 2. Definition of a bisector
3. Cis midpoint of BE 3.
4. BC=CE 4.
5. £l1= /2 5.
6. AABC = ADEC 6.
3. Given: AB | DC
AB = DC

Prove: AABE = ACDE 5
STATEMENTS REASONS
1. AB| DC 1.
2. AB=DC 2.
3. £1= /2 3.
4. £3=z4 4.
5. 5.




